
DIAGRAM CODE

VE
RS

IO
NE

:
DE

L:

R3,2081
NUT M6 SELF LOCKING

SET OF 10 PIECES

R3,2101
NUT M8 SELF LOCKING

SET OF 10 PIECES

R3,2113
NUT M10 SELF LOCKING

SET OF 10 PIECES

R3,2111
NUT M12 SELF LOCKING

SET OF 10 PIECES

R3,2662
O-RING FOR TUBE Ø30 MM

SET OF 10 PIECES

R3,2663
O-RING FOR TUBE Ø35 MM

SET OF 10 PIECES

R3,2664
O-RING FOR TUBE Ø40 MM

SET OF 10 PIECES

R3,2665
O-RING FOR TUBE Ø45 MM

SET OF 10 PIECES

R3,2666
O-RING FOR TUBE Ø20 MM

SET OF 10 PIECES

R3,2660
O-RING FOR TUBE Ø15,8 MM

SET OF 10 PIECES

R3,2661
O-RING FOR TUBE Ø25 MM

SET OF 10 PIECES

00
3

23
-0

9-
20

02

R3,2081
Order individual set
using the codes below


